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NGV �����ก���ก��'ก( ���ก�������������� )(����#�*� 
 NGV (Natural Gas Vehicles) #�*� CNG (Compressed Natural Gas) 	�,�'ก-�.���/��� 
��กก���0)1����	�2�"�� �
 ��#��ก$	%&'���� ���. �)������*�+ก�,�
�-����../�*�01��2'�3)����
�2�%��2
�4�	5����
�� 39.04 ,�� (;���2' 3 �� ����� 2551) ���
�4� NGV 
�4�ก���ก
���� 8.50 ,�� 
%&'�
�4��')�ก;���3)�����2�%� &� 60% 01��2'�ก$	�C��
��2�����; (LPG) 
�4��2'4;,4������� 330 �
�
���
�	�
�FG ��� ���. ��+�;��0����� &� 90-100 �
����
���
��� ����IJ���&��
�;�� NGV ����#�
���

ก0
�ก�
�ก+�KL��;�กM���3)���� 
�����
กN��� ���	)3�456�	�,��78#����ก����� NGV ��1/(
1�	/����2�/
�	�*6�'ก(�78#�9��ก�����"�1���)�����	�
 �:)���:� 

1. �7��0����:ก��1/( NGV 1�9��ก�����"������2�(�
�� 4 ��ก��*O+ก�,
 ,

��ก��+ 20% 
��ก
 ,

��ก�2'�����,2���
���1 650,000 4�� กN����#��)��;� 130,000 4�� ���2 NGV �2'
Q
�Q2���
R
��� ��ก�K���,��*O+�
���1 5,200 �����
;������#� 20,000 S 30,000 �����
;�� 
������
;���;��0
 �C4
�Q , 
 ��$ก%2'���Q����	�;�,�44� 

2. 1��2��:��:�7<�#�*��=���:6�:61/(	��� NGV ��6����	�
 94 '#"� (,��
�����;���2 200 ����) 
�����4
�F��+�;�����Q�'���#� 193 ����*�	�3��T�23 (,��
�����;�� 335 ����) 
;���3� ���2	 ��2�2'
��#� Super Station  	)��
�,
 ,

��ก������	�
 58 ���� %&'��+
��0+�*�;��*�QR3��2'%&'���
�ก$	 
NGV ����� &� ���)�����ก�
��+
�����
 ���
 ��,��0�	���ก$	 NGV 0
� ���. ����Q2��Q

4R
�2�Q2�� 900 4�� 

3. �7��0����=��:	��� NGV �:�(�
��ก 
 ���+
���� ������� 7-8  �� ( �� 1 *,,

�� 50 
ก���ก
��) %&'�����`�2'� 1 ก������
*O+�ก$	�
���1 0.8-1.0 ก���ก
��) ก�
�����ก$	
��;������
�)���+�)�,�ก ����+
��
�

4�; &� 2-3 O�';��� ��R'
���กก�
���� NGV �+
�*O+�
�
��	5� ���

 ,

��ก��;��ก 1 4�� �+
�*O+�;�������
���1 20-30 ���2 ���01������ก$	กN��,�4
R'
�
�����+ �Q
���+
�4
�0��,
 ��ก��#�ก�
������ก
 ��,�� กN���+
�*O+�;����กก;���23  ��#�
����-��2'�)�*�+4�0�,
 ���O
,
 �2'��� NGV  

4. 	�����ก��'��� NGV �:	������!� /"����) Know How '������/����8 ����`Q��ก�,

 �ก�� 	�;�*�L���+�;����� NGV ��+;�4
R'
�
+
��������2ก)������ก�5+4
������

��2',

��ก
	��4+����ก���,��
��*O+�;�������3���#���R
� (���,��
��กN��+�;�� 10 ;��) �Q
�����+
��2ก�

�
�,�����4
R'
����� (Modified) �4
R'
��2�%���*O+
�,,��;��2�� ������+
�*�+�2ก)����������
ก�
�����OR3
�Q����+
�����
� ����`Q��
 ,

��ก*����กR
,��ก�2'�+
����2ก�
-����4
R'
��2'*O+ก�, 
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NGV ���,���2'�+
�2ก�
�de1����กN�+
��)��4
R'
��� Modified �O��ก�� %&'�ก�
0����
���1
 
*�+��+ 20% 4��)������+���� 

5. ก������	��:6
� Modified 	��*6��
��� �:�(��0��!��=1#�"�����2 550,000 ���/��� ��ก
��#�
 �ก���
���1 600,000 S 650,000 ,��/4�� �`Q�� ����������� Gas  ���� 22,000 ,�� 
���
  1 4���+
�*O+ ���ก$	 7-8  �� �)�Q��*�+-5+�
�ก
,ก�
0�	���2'��#� SMEs ���
�,�
��4��)�
��+��ก ��4
�F���+
����*�+�2ก
����	��,	��� �2�
ก�,23��')�ก;��
��
��Q
��
�����+
� 2% 

����;��-�
��
���1 3 �T 

6. ก����)���� NGV �5�����:ก��
5ก�����	����� '��
5ก��	�(�������"�  ����+
�
�
���1
�����������ก��,*�+Q
�2ก�,�
���1�ก$	*� Tank ����`Q���+��4;����
����
0
� Tank �
R
 ���ก$	���+
���+���
F�� ��R'
���ก��#��ก$	�2�
����	5� �&�4;
�
��

ก��#�
���
F�� k	.�.
.l ���*,
��L��0
�O����2'����#�-5+�����3��
R
 Modified �4
R'
����� 
 
�
"�� �ก3��� �(�):��� NGV �:��ก����1�)(���(��0�456��6��ก�"�):	4� �:ก����1�)(������

���)9�
 ����) M
�กก�"�'ก-����	9� LPG 	�*6����ก	�,�'ก-�����)���!��5���
 ��(��������
1�)(���������#
�)��):ก�"�'ก-� LPG %&'���R'
��2�,ก�,�3)�����2�%� LPG ���
�������+�Q2�� 25-
30% 01��2' NGV ���
�������+ก;�� 65-70% 
�����
กN�2 ��4�
กO�;��ก�ก2'�;ก�,
�4� NGV ��ก

�4����
�� 8.50 ,���
�,��#� 12 ,�� ���*��T��+�
���2ก�
�
���;�กN	 NGV �)���#��2'
�F���+
�
�0+����2,�,�� ���*O+���
ก�
���ก�
4���  ��3��+��ก�
����e20��0+�	)��
�,
��ก
1����
�����%&'�
�)��0+����QR'
�
�,���2'���4
R'
�  ���ก�
*�+4�������
���e2	)��
�,��
ก���2'�2ก�
�
�,���2'�� NGV 

;���3� �2ก
�����
ก�,23��')��QR'
��	��,	���*�+-5+�
�ก
,ก�
0�	��	���
 �
�,���2'���4
R'
�������#� 
NGV  %&'�
�F�+
��
�;���KL���
กO�����`Q����4ก�
-��������4ก�
0�	�����+
��
����2�;�� 
����������ก������ก���= M 9 ��
'���= M����!" ���(��1/(	����:ก 4-5 �Q �5�	#3�R� )������ 
��S������(��	�"�1#(�:��
��
1�ก������	��:6
� ��!"ก��1/( NGV 1�9�����"�'��9��           
�������ก�� �)
	�3��:6�0) ��3��23 ��ก
�4��3)�����2'	5���ก�����)�*�+4��4

�O2Q0
��
����	5�0&3�  กN����
ก����ก�
�
2�ก
+
�4���
�%&'���4ก�
-���*�,�� Sector  กN
�,	��Q�����+   ���O����3� *�
�����;
������
ก��4����	���
 
�5���+ %&'��2'	��กN���2-��)�*�+�
�����)��;���ก�+
��ก�������ก���KL��
�
���� �����
eFก��0
����กN
�����0+�	5���4O��
��; %&'��2'	��กN��	��-���
4;����'�4���
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�
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